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Fig (2) shows four vectors &, B, C, D. Which of the fcllowing

statements is correct: E_"
—m
C=D+ B - A D
C=A+ B + D 5
C =-D-B + A B
C =4aA-B + D
C =-A - B -D
—A
Unit wectors i,3j,k have magnitudes of unity and are directed
in the positive directions of the x,v,z axes. ~
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The wvalue cof k. (k =% i) is: 1 "
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If we have two vectors A = (a i - 2 j) and B = (2 i + 3 3}
such that A.B = 4, find the wvalue of a.
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A particle starts from the origin at t=0 with a velocity of
{83) m/s and moves in the xy plane with constant acceleration
of (4i - 23) m/s**2. At the instant the x coordinate of the
particle is 32 m, what is the value of its y coordinate?
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0 A ball is thrown horizeontally from the top of a building
0 100 m high. The ball strikes the ground at a point 65 m
0 horizontally away from the base of the building (Fig 3}.
0 What is the speed of the ball just before it stri]-ées the ground?
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0 A particle moves at a constant speed a circular path V= v,ﬂ.;* ar. T
) with a radius of 2.0 cm. If the particle makes 4 revclutions - ) d
0 each second, what is the magnitude of its acceleration? = 4e.4 m/}.‘
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